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Part (d) was incorrectly answered by most candidates - Difference between smoothing 
before differentiation (noise suppression) and the window size in the gaussian weighting 
function (scale of feature to be detected). 
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Part c - transformation of a conic - was poorly answered, Rest was well-attempted, 
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This question tested the candidates understanding of stereo vision. Poor understanding 
of triangulation (a) to recover depth and the big to the epipolar constraint (b). Rest 
was well answered. 


